Quiz 4b Solutions

Sam Mansfield

bridge
Segment 1 f‘ll Segment 2

G et e v
A E c X

Packet Sent Segment 1 | Segment 2
from A to B A
from B to A
broadcast from A
from Y to X
from Y to A
from A to B

| | | | =

(| |

>
|




X Wireless "Cell” Wireless "Cell”

Y
LAN Backbone E

Access Point 1 é é Access Point 2

AD =1 CD &D

Wireless Clients Wireless Clients

Key: Wireless packet (Al, A2, A3), Ethernet packet (DA, SA)

(a) XtoD
Two packets will be sent from X to D.
(D, X) Ethernet
(D, AP2, X) Wireless

(b) Cto B
Three packets will be sent from C to B.
(AP2, C, B) Wireless
(B, C) Ethernet
(B, AP1, C) Ethernet



